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Setld: 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

Section 1 - Reasoning

No. of Questions: 50

1) Select one of the following four options that will make the second pair analogous to the first pair
given as:

Ants : Nest :: Bees : ?

A) Herd
B) Flock
C) Hive
D) Family

1) Prfaf@a IR et & ¥ U BT Y Ol ALY SIS D! Tgel SiIS! o FHAET ST
Hifeat: ist : AYATFET :?

A g
B) as
C) o
D) aftar

2) What is the next term in the number series given below?
57, 57, 46, 46, 35,

A) 12
B) 35
C) 19
D) 29

2) it & TS e ARGl # SATe UG 7T 67
57, 57, 46, 46, 35,

A) 12
B) 35
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C) 19
D) 29

3)57isto19as81isto__

A) 23
B) 27
C) 29
D) 34

3) 57 O yR ¥ 19 § FFaferd o, S TR 81, ?

A) 23
B) 27
C) 29
D) 34

4) In a certain code, ‘731’ is coded as ‘study very hard’, ‘953’ is coded as ‘hard work pays’ and
‘145’ is coded as ‘study and work’. Which digit in that code is coded as ‘very’?

A) 1

B)7

C)4

D)9

4) T fAfRed &e #, '731' PIHT B ‘study very hard’, '953' BT 31 B ‘hard work pays’ 3R '145' &I
31 § ‘study and work’. eI & & $I4 Al T 'very' BT de BRI 2

A) 1
B) 7
C) 4
D)9

5) Which of the following statements can be used to answer the given question?
Question : Which day of the week is today?

A) Today is not a Tuesday
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B) Yesterday was Wednesday
C) Tomorrow is not a Sunday
D) Problem cannot be solved

5) 39 FFEIT IR 0T A4 & faw eeafaf@d & Q g YT &1 TR iR ol I &:
T2 : TS Fodg I DI Il T 872

A) 31T HITAAR 78T &

B) e gHarR T

C) o faar w1gt &

D) garean ga &t & S Iobell o

6) How many triangles are there in the following figure?

A) 6
B) 8
C) 10
D) 12

6) fee=Tfaf@d Sl #F foncer Feyst 872
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A) 6
B) 8
C) 10
D) 12

7) Which of the following sets is NOT similar to the given set?
(May, July, October)

A) (January, March, May)
B)

)

)

(

(May, August, December)
C)(
(

D

April, July, October)
January, May, July)

7) frfaf@a #§ @ &9 91 ¥e e U Je & UM 767 82

8) Which of the following questions can be answered by using the given statements?

Statements:

A) Shyam is brother of Rahul
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B) Radha is sister of Shyam

A) Who is father of Radha?

B) Who all are brothers of Radha?
C) Is Shyam a brother of Radha?
D) Is Madhu mother of Shyam?

8) fow TN &=t BT SUTNT ke foie=ifari@d & T ford 9eeT H1 3a< T ST bl 872

DY :

A) <1 XEd BT 4TS &

B) 7T 2TH i 98 &

A) 14T T e BIF 22

B) Jrem & gt uTE i &2
C) = 2z T BT TS 82
D) o wef ezmar 1 AT 87

9) Meena is twice as old as Shina. 3 years ago, Meena was thrice as old as Shina. What is the
present age of Meena?

A) 12 years
B) 8 years
C) 6 years
D) 4 years

9) HHT =1 ¥ ST SS15 | i Tet g, HiAT =1 & fapit Srs e | HH1 hr o 37 & 67

A) 12 a§
B) 8 o
C)ea¥
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D)4 a§

10) Showing a photograph, Priya said, "he was the only son of the father of my sister’s
brother." How is that person related to Priya?

A) Brother in law
B) Father

C) Son

D) Brother

10) Teh WIC! @rel §U il = 8T o a8 #LY 96-1  HIS B T bl UehATT U § | I8 cafere ol 1
T AT 82

A) Frar
B) Rrar
OECHENE
D) g

11) Given below are four pairs of numbers. In three of the pairs, the 2nd number is related to the
first number in the same logical way. Which is the odd one out?

A) 123 -6
B) 257 - 14
C) 235 -10
D)712-8

11) i T3t & IR e fgw MU &) diiF st &, gudy dear Sl arfehe aih ¥ ugel dear
Tafa 81 i I TS iw# 82

A) 123 -6
B) 257 - 14
C) 235 -10
D)712-8
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12) In what way can the terms of the given set be divided into two different sets on the basis
of vowels and consonants?
(B,H, T,E,O,A M U,P)

A) (E, T, A, U)and (B, H, O, M,

B) (E,O,A,U)and (B, H, T, M,
)(H,O,A,U)and (B, E, T, M,
)

E,O,A,B)and (U, H, T, M,

C

(
(
(
D) (

P)
P)
P)
P)

12) forr 8% W 59 Y=o Pl al At et ¥ TRt IR cToteit & SMUR W Faffepd fpar S Febal
87

(B,H,T,E,O,A, M, U, P)

A) (E, T,A,U) 3R (B, H, O, M, P)

B) (E,0,A,U) 3R (B, H,T, M,P)

C) H,0,A,U) 3R (B,E, T, M, P)

D) (E, 0, A, B) 3R (U, H, T, M, P)

13) What is the minimum number of cuts required to form 64 small identical cubes from a bigger
cube?

A) 5
B) 7
C)9
D) 10

13) THh T3 U 64 BIC T FM & oI =g7qH Rhciel HIC T Haeehel 82

A) 5
B) 7
C)9
D) 10

14) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Dog : Bitch :: Drone : ?
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A) Bear
B) Bee
C) Doe
D) Stag

14) AFATATRd IR Fheul & ¥ T BT 90 i Sl gl SIg] D! Igel SISl o FATT S oll:

15) Read the information given below and answer the question that follows: There are six teachers
A, B, C, D, E and F in a school. Each of the teachers teaches two subjects - one compulsory and
one optional. D’s optional subject is History while 3 others have it as compulsory subject. E and F
have Physics as one of their subjects. F’'s compulsory subject is Mathematics which is an optional
subject of both C and E. History and English are A’s subjects but in terms of compulsory and
optional subjects, they are just reverse of those of D’s. Chemistry is an optional subject of only one
of them. The only female teacher in the school has English as her compulsory subject.

What is C's compulsory subject?

A) History

B) Physics

C) Chemistry
D) Mathematics

15) A1 &1 T8 STy 9 3R 3 JaTd 1 aTg &

TS fdegrerg & B¢ Reh A, B, C, D, E 3R F &1 e Rt &) [aval DI Ugrd & - TP e Ay
3R TP dfous| D HT depfode v STIgrd § STafeh 3 31 oielt H198 e v g1 E 3R

F & fawdl & 9 ue sif3dr 31 F &1 31far s a1ftig 8 S C SR E 2t &1 U dasfous v g
sfaer 3R 33T A & R §, afthet far 3R dwfous Fwat $EesT 7, 3 D & &% fada &1
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T 314 Y Bac U Pl Johfouh v § | THd & Tehard Afger et & U faard v & &9
# 3 8

C &1 31far v Fa71 82

A) sfaera
B) siifahr
C) =
D) arforg

16) In a row of children, G is sixteenth from the left end of the row. If she is shifted towards the
right by four places, then she becomes fifth from the right end. How many children are there in the
row?

A) 24
B) 25
C) 26
D) 23

16) Sl 1 TP dfad &, G Ufed & a8 BR I Aelgd €U R g1 I IV IR w211 At 3R
TR fRaT SIldT 8, dl 98 &gt BR 9 Irad ¥21=T UR 31 9lldt g | 9fFa & fhder s=ar &7

A) 24
B) 25
C) 26
D) 23

17) What is the next term in the number series given below?
3,4,6, 10, 18, 34,

A) 65
B) 68
C) 70
D) 66
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17) =ital & 78 TEaT S%@el 3 3Tl UG 47 67
3,4,6, 10, 18, 34,

A) 65
B) 68
C) 70
D) 66

18) What is the missing term in the number series given below?
34.5, 71, , 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149

18) Y3 &1 TS T 5 & SR UG #4T 82
34.5,71, ___, 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149

19) What is the next term in the number series given below?
31, 8,4.5,5.5, 13, 56,

A) 512
B) 648
C) 560
D) 456
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19) 1 &Y 7§ T 4%l 3 STel UG 87
31,8,4.5,5.5, 13, 56,

A) 512
B) 648
C) 560
D) 456

20) Within a time-interval a train travels 84 km whereas a bus travels 38 km. How long will the train
travel when the bus travels 95 miles?

A) 150 kms
B) 168 kms
C) 210 kms
D) 320 kms

20) T JHY 3HdRTd & HIdR TP 27 84 et A1 il o, STafeh U 99 38 faned 1 A1 HRcl 8 | o
Y 95 TS & AT B o, Al o fheletl G Y AT B2

A) 150 forar
B) 168 foneft
C) 210 foray
D) 320 feref

21) In a certain code ‘123’ is coded as ‘hot filtered coffee’, ‘356’ is coded as ‘very hot day’ and ‘589’
is coded as ‘day and night’. Which digit in that code is coded as ‘very’?

A) 3
B) 5
C)9
D)6

21) e fARad e HIWT 3 123" Bl ‘hot filtered coffee’ & &9 &, '356' 1 ‘very hot day” & &9 & 3R
'589' I ‘day and night', & & 3 for@m 7T & 1§ HIWT 3 DI A TEAT 'very' & T & Peaeyl 87

A)3
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B) 5
C)9
D)6

22) If AIR is coded as GREEN, GREEN is coded as BLUE, BLUE is coded as SKY, SKY is coded
as YELLOW and YELLOW is coded as WATER, then what would be the code for ‘colour of clear

sky’?

A) BLUE
B) WATER
C) YELLOW
D) SKY

22) 9 AIR &I GREEN & &9 # , GREEN ®1BLUE & &7 3, BLUE I SKY & &9 & Peaeyr fomar

T 8, SKY I YELLOW & &9 & 3R YELLOW HIWATER & &9 3 Pesey fham 71 &, ol ‘clear
sky & 3T BT HE 7T INN?

A) BLUE

B) WATER
C) YELLOW
D) SKY

23) In a certain code, ‘256’ is coded as ‘you are good’, ‘637’ is coded as ‘we are bad’ and ‘358’ is
coded as ‘good and bad’. Which digit in that code is coded as ‘and’?

A) 8
B) 6
C)3
D)7

23) U fARad e HIWT 3 '256' Bl ‘you are good' & & &, '637' Bl ‘we are bad’ & &7 & 3fR '358' Pl
‘good and bad' & &7 # fr@T 7T § | B Ul FEAT 'and’ BIPe & ?

A) 8
B) 6
C)3
D)7
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24) Which of the following statements can be used to answer the given question?
Question :
What will be the next month if it does NOT have 30 days?

Statements :
A) Current month has 31 days.

B) Current month is NOT the first or last month of the year.

A) Only A

B) Only B

C) Both A and B together

D) Not possible to decide even with both A and B

24) f&T TN 927 H1 31 a1 & forw afaf@a & § frg HUF &1 IUTNT fxar S I&dl 82

YReT:

mmﬁqwm&mwﬁw et s1gt glar?

HY-:
A) TTATT FEIA F 31 feT &1
B) aciHTel HEIAT a¥ I Ugdl AT 3ifae HET 781 5|

A) Hada A

B) %adB

C) A 3R B ¥l T& A1y

D) A 3R B @t & A1y off 0T S Hva gt §

25) How many triangles are there in the following figure?

Page130f85



Setld: 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

A) 12
B) 13
C) 14
D) 15

25) rAfafed =7 # fordst [Fenior 872

A) 12
B) 13
C) 14
D) 15

26) Which of the following options does NOT have the same property as the elements of the given
set?

(3, 81, 243, 729, 2187)

A)9
B) 27

C) 15309
D) 6561

Page140f85



Setld: 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

26) fAFaifaf@d 7 @ fra e 3 fqw T He & deal & FHM 07 767 § 2
(3, 81, 243, 729, 2187)

A) 9

B) 27

C) 15309
D) 6561

27) Which of these options can be judged from one of the remaining three options?

A) P is an even number

B) P is the square root of a number
C) P is a perfect square

D) P is not prime

27) 2197 q B T Fehed AW A fsheat 3 T Th F 3T S bl 82

A) P gH &8

B) P ue wEar $13e Ha &
C) p ot et &

D) p 3rs1re%r GEaT €T ©

28) The head of the department of an office is 26 years old while the cashier is 3 years older. The
average age of all the other 9 employees will be reduced by 1 year, if these two persons are
excluded. What is the average age of the employees in that office?

A) 23 years
B) 25 years
C) 27 years
D) 28 years

28) U riery 3 Ta879T & TG 1 3T 26 a9 §, STaifeh HAIT I4 3 a8 FST5 | I T &

it &l enfirer At fhar ST, @ 37 T 9 FfaRat A SfIed 311 T a¥ HH g1 S| 34
hraTerT & TRt i 3 31 fhd= 87

A) 23 a§
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B) 25 ¢
C) o7 a¥
D) 28 a§

29) Seeta's mother's sister's only brother is Ramesh. How is Seeta related to Ramesh?

A) Aunt

B) Sister

C) Niece

D) Daughter

29) i1 & AT T T8 BT SHA HIs A & | JiaT BT IHTY WY T Y g2
A) Tt

B) §g

C) yish

D) s&r

30) Pointing Sumana, Samar said, “Her mother’s brother is the son of my mother’s father.” How is
Sumana’s mother related to Samar?

A) Aunty

B) Sister

C) Mother

D) Daughter

30) G I 3R IURTDBI G, TAR = DI, "HHT Al bl HTS HR AT o e 1Y & 1" FAT 1 Al BT
R § a1 Rear 82

A) Tt
B) sg
C) gran
D) a&
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31) Among the given pairs of terms, identify the option in which the pair of terms is NOT similar to
each other?

A) JAM - 24
B) BORE - 40
C)KITE - 47
D) LOOP - 58

31) T U el b ole & ¥, 3 Ryehedl 1 UgaH i [SeTel gaf & sl Uh-guR & T #¢i 82

A) JAM - 24
B) BORE - 40
C)KITE - 47
D) LOOP - 58

32) In the following figural series, which answer figure will complete the pattern?

Problem Figures: Answers Figures:
(A) (B) (©) D) (1) (2) (3) (4
A) 1
B) 2
C)3
D)4

32) fFafaf@a S sikEen &, B A 3a% Sy Yeet DI B 2

Problem Figures: Answers Figures:
0@ 4] 7] |&ld |k
(A) (B) (€) (D) (1) (2) (3) (4)

A) 1
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B) 2
C)3
D) 4

33) In the following figural series, which answer figure will complete the pattern?

Problem Figures: Answers Figures:

A
@/\ OC@? @D @C @D

(A) (B) (C) (D) (1) 2 (3) G}

A) 1
B) 2
C)3
D) 4

33) fArATad MY sae 3 I W 307 SHepfar Yeot DI TR B2

Problem Figures: Answers Figures:

@/\/f\o(n 9 « @( @lg.

(A) (B) <) 8)] (1) (2) (3) (4)

A) 1
B) 2
C)3
D) 4

34) In the following figural series, which answer figure will come next?
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Problem Figures: Answer Figures:
+ +| —+|A-+A-+| |-A+A-+| DAA-+
- Q= O O Q0 Ol |0 OO0 e -0 O
AOC®ADSACS OO IR @) 90 +|®
(A) (B) © O (@) (1) (2) (3) (4)
A) 1
B) 2
C)3
D)4

34) fAFATRad SR Sae &, DI A SHHfar 3Tl 3e NPy BIA?

Problem Figures: Answer Figures:
+ +| =+A-+|A~-+| |mA+A-+| OAA-+
- Q= O o) Q0 Ol OO0 ® -3 O
AD®ADSADS® OO JEL O 90 +|®
(A) B) © D) (E) (1) ) (3) 4)
A) 1
B) 2
C)3
D) 4

35) In what way can the terms of the given set be divided into two different sets such that the terms

in each set are similar?
(8, 36, 27, 81, 125, 49)

A) (36, 81, 49) and (8, 27, 125
B) (36, 81, 125) and (8, 27, 49
C) (36, 27, 49) and (8, 81, 125
D) (8, 81, 49) and (36, 27, 125

~— N S SN
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35) foher TRE W T T A2 F uet Bl al fafdiet Aet #F guffepd fovam o ol § fof Tcdsh 4 B Ua U
G D FHET g7

(8, 36, 27, 81, 125, 49)

A) (36, 81, 49) 3R (8, 27, 125)

B) (36, 81, 125) 3R (8, 27, 49)

C) (36, 27, 49) 3R (8, 81, 125)

D) (8, 81, 49) 3R (36, 27, 125)

36) A big cube is made from 729 identical smaller cubes and is painted on all the faces. What is
the number of smaller cubes that have atmost two faces painted?

A) 562
B) 821
C) 640
D) 721

36) U 9199 729 YHM BIC gelt T 91T 74T § MR 39 I+ Basi ol te fvar 11 31 T Bl
T1eit &1 FET el &, O 311 ¥ 34 < Bed 1 g1 &7

A) 562
B) 821
C) 640
D) 721

37) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Disabled : Retarded :: Liberated : ?

A) Captured
B) Free

C) Privileged
D) Liberal

Page200f85



Setld: 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

37) Refaf@d IR fasedt 7 Y Tb 1T Y Ol GELY SiIS! bl Ugell Siig S THET ST 11:
3eTH: ATdHG : Hard:?

A) g=dr

B) vaoee

C) faRramfRsryTe
D) 3aR

38) Select one of the following four options that will make the second pair analogous to the first
pair given as:

(2+3+5) : 30 :: (3+5+7) :

A) 105
B) 120
C) 145
D) 160

38) fReAfafed IR fasedt & A T H1 9T Y Sl G SllS| bl Tgell Silel & THEY 1 a:
(2+3+5) : 30 :: (3+5+7) : :

A) 105
B) 120
C) 145
D) 160

39) A, B, C, D and E play a game of cards. A says to B, "If you give me 3 cards, you will have as
many cards as E has and if | give you 3 cards, you will have as many cards as D has”. A and B
together have 10 cards more than what D and E together have. If B has 2 cards more than what C
has and the total number of cards is 133, then how many cards does B have?

A) 22
B) 23
C) 25
D) 35
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39) A, B, C, D 3IR E IR BT @ Werd &1 A, B ¥ $ocll 6, "3 MU TS 3 F1E <d &, @ e FIEE S
U1 & 311U UMY I &1 18 giar 3R a1y 3 31U bl <l s 31 § ol 31U Urg D & ot rs

g1 A SIRB &t & UM AT 10 FIE S SN D SR E gl o el s 4 HfAFH g1 I B HUH C A
2 1S 31 & 3R TS Bl el TEAT 133 5l I B B U fohctel 1S &7

A) 22
B) 23
C)25
D) 35

40) A bought 3 apples and 4 bananas for ¥ 80 while B bought 4 apples and 3 bananas for ¥ 95
from the same shop. What is the difference between the price of one apple and one banana?

AR5
B)Z 10
C)Z 15
D) % 20

40) TP & G 8 T e A 7 3 49 3R 4 12 80 F @lier iR B 7 4 T 3R 3 el X 95 3 @ler|
TS TS 3R T el T Hred B siid P SR 47 82

A)Z 5
B) 2 10
C)%15
D)% 20

41) Which of the following statements can be used to answer the given question?

Question : What is the radius of the circle P?

A) The diameter of the circle P is twice the radius of the circle P

B) The diameter of the circle P is the longest chord of the circle P

C) Its areais 12 cm? less than that of a square with side length equal to its diameter
D) Problem cannot be solved using the information given in any of the options
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41) 2T T 92 H1 3R &1 & faw ReaAfaf@d & § fra ST 1 SUTNT 341 ST bl 82

ueeT: I P &1 e #4167

A) gIP P da P & Asar § AT §

B) ga P PTear 3 P 1 9y al offa1 8

SHD] &THT 12 cm? BH ¢ IH T I Sraeh! Ioa als IYD A & SRR &

IR et i ered & &1 T TR BT IUTNT HRD THEAT B AT T off Tbdl o

42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the figure X?

P D P B S

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) P R X & T AT 1, 2, 3 3R 4 wfafdwst # ¥ HH 1 w8 5 vl 82
X 1 2 3 4

A) gfafees 1
B) ufafassr 2
C) gfafassr 3
D) ufafaser 4
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43) Which of the following options does NOT have the same property as the elements of the given
set?

(BX, HR, DV, FT)

A) EU
B) CW
C) MN
D) GS

43) RFAfa@d & ¥ o fasheq & U T 9T & deal & GHM T[0T 78T 57
(BX, HR, DV, FT)

A) EU
B) CW
C) MN
D) GS

44) Which of these options can be judged from one of the remaining three options?

A) Sum of P and Q is more than 100

B) At least one among P and Q is greater than 50
C) At most one among P and Q is greater than 40
D) At most one among P and Q is lesser than 70

44) 373 A DI T ke [ A1 ket 3 T TH J il o Tohdl 82

A) p 3R Q HTANT 100  3ifRr 8

B)psiRQ# Y FH A HHUH 50 § 3w §

C) p 3R Q& T Ush surer A sy 40 ¥ 3170+ @
D) paiRQHF VTS saeT A eI 70 A HH B

45) Which of the following questions can be answered by using the given statements?

Statements:

A) Mark and Steve have a total of 109 marbles.
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B) The number of marbles with Steve is a two digit prime number.

A) What will be the remainder left when number of marbles with Mark is divided by 27?
B) What will be the remainder left when number of marbles with Mark is divided by 37
C) What will be the remainder left when number of marbles with Steve is divided by 3?
D) What will be the remainder left when number of marbles with Steve is divided by 47?

45) faw T Fu=t BT IYART RS AraAaf@d F T g w2 BT 3a< &I off Joball 872

DY

A) AT SR T & U Pel 109 Hd
B) TIT & URY & shall T FEAT < 37T T 31T HEAT ©

A) #1E D U b el T T&aT DI 2 T fFanfag B W red V%A 471 g2
B) #AF & U & el i Tear Bl 3 ¥ fsnfaa e UR wred AN &1 g2
C) &g & U & st & T B 3 ¥ f3snforg B WR yred ANt &R gHTT?
D) &g & UM & el T Tear Bl 4 ¥ fasnfora HR1 UR gred AN 47 GRIT?

46) Out of the scores of four students A, B, C and D, the score of A is twice of that of B, the score

of B is one-third of that of C while the score of C is 5 times of that of D. If the average score of A, B,
C and D is 24.75, then what is the highest score?

A)9

B) 25
C) 30
D) 45

46) AR BTETA, B, C 3R D, FERR F Y, A HTEHR B W AT 8, B HIEHRR C & U fagTs & siafeh
CHITHR D BI5 A1 81 | Tf A, B, C 3R D BT 3MHd ThR 24.75 8, Tl ITadisl T 4T 87

A) 9
B) 25
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47) P is the brother of Q, Q is the brother of R, and S is the father of P. On the basis of these
relations, which one of the following statements is definitely wrong?

A) Q is the brother of P
B) Q is the son of S
C)Pisthe sonof R
D) R is the brother of P

47) IR P, QHTUS 8, Q, RBIUTS §, S, P B a1 g1 37 Redt & SMUR W, eATari@a &7 9 HH-91
FHYF e &9 9 Tod 82

A)Q,PHTHS &
B)Q, s®&Tacl &
C)p,RFIdeT B
DR, PHTUR &

48) Among the given quartets of numbers, identify the option in which numbers are similar to each
other based on prime factors of the numbers?

A) 2, 3, 8 and 64

B) 21,63, 78 and 77
C) 27, 81, 243 and 729
D) 12, 21, 68 and 81

48) fw T TEa3it & TAqsed & ¥, I Asheq H UgdH Y, T TEa Th-gIR & TAed §72

A) 2, 3,8 3R 64

B) 21, 63, 78 3R 77
C) 27, 81, 243 3R 729
D) 12, 21, 68 3R 81
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49) In what way can the terms of the given set be divided into three sets such that the sum of
the two terms in each set is equal?
(967, 896, 1086, 1246, 807, 1157)

A) (967, 1086), (896, 1157) and (807, 1246)

B) (967, 1157), (896, 807) and (1086, 1246)
) (967, 1157), (896, 1086) and (807, 1246)
)

967, 1086), (807, 1157) and (896, 1246)

C
D

o~~~ o~

49) fore 8 T T Y F oo & ugl Bl i Fezaat 3 fsnfid frar S gevd 8, aifer < Izt
& el I g JHH §I?
(967, 896, 1086, 1246, 807, 1157)?

A) (967, 1086), (896, 1157) 3T (807, 1246)
B) (967, 1086), (896, 807) 3R (1157, 1246)
) (
) (

C) (896, 1086), (967, 1157) 31X (807, 1246)
D) (967, 1157), (896, 1086) 3R (807, 1246)

50) Letters of English alphabet are arranged in the form of a triangle in a way that the first row has
1st alphabet, 2nd row has next two alphabets and so on. Which alphabets are in the 6th row?

A) KLMNOP
B) PQRSTU
C) IUKLMN

D) UVWXYZ

50) 31 IUTATE & 37&RT DI U TeTS & &9 & 3 TRE ¥ cFaeyd fhar §Idl ¢ fof ggely dfe aF
UG 376 8, GEY Gfehet a1 SRTA & 316 & SR 341 R® o oft | 8y afbey o DI & 31w €7

A) KLMNOP
B) PQRSTU
C) IUKLMN

D) UVWXYZ
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word.
BLUR

A) hit
B) sharpen
C) bounce
D) fit

52) Choose the correct article to complete the sentence:
She found pen lying under the table.

A) a

B) an
C) the
D) zero

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) This books/ (B) are not (C) for sale. / (D) No Error.

A) A
B) B
c)C
D)D

54) Complete the sentence with a correct phrase. If you want the manager's support you must
the rules.

A) abide by
B) abide on
C) abide for
D) abide at
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55) Fill in the blank with the correct pronoun:
He likes you more than

A) you
B) me
C)it

D) she

56) Fill in the blank with the correct option:

He refused to divulge any details the plan.

A) off
B) with
C) about
D) by

57) Select the right preposition for the blank:
They found him to be the most suitable candidate the post.

A) to
B) for
C) with
D) on

58) Choose the correct option to complete the sentence:
The spotlight faded the houselights came up.

A) if

B) unless
C)and
D) lest

59) Identify the Complex sentence.

A) His interest in the project declined after his wife died.
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B) There is a dearth of new homes in the region.
C) He can't decide whether to buy it.

D) She has always shown great dedication to the cause.

60) Choose the word that is correctly spelt

A) Envison
B) Envision
C) Envesion
D) Ennvision

61) Identify the synonym for the word — anonymous

A) huge

B) carefree
C) eminent
D) unnamed

62) Identify the synonym for the word — barbaric

A) smooth
B) drunk
C) hairy
D) brutal

63) Fill in the blanks with the correct option:

Priya karate class every Saturday.

A) attended
B) attend
C) attends
D) attending

64) Fill in the blanks with the correct form of verb:
When | go to university, | in the students' hostel.

A) am staying
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B) will be staying
C) will have stayed
D) was staying

65) Choose the correct verb to complete the sentence:

| could not meet him because he out of station.

A) will go

B) will be going
C) has gone

D) is going

66) Choose the correct verb to complete the sentence:

[ at the moment.

A) am travelling

B) was travelling
C) will be travelling
D) travelled

67) Identify the antonym for the word — oblivious

A) aware

B) preoccupied
C) evident

D) blind

68) choose the correct article to complete the sentence:
light was so bright that | had to cover my eyes.

A) A

B) No Article required
C) The

D) An

69) Identify the part of the sentence that has an error:
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| couldn't able to ask my dad permission to watch a movie.

A) | couldn't able
B) to ask my dad
C) permission to

D) watch a movie.

70) Choose the meaning of the italicized idiom used in the given sentence.
The teacher said to the latecomer, "What's your excuse? I'm all ears."

A) going crazy

B) in a hurry

C) very angry

D) listening intently

71) Choose the meaning of the italicized idiom used in the given sentence.

My colleague told me that, if | accepted the new assignment, | would bite off more than | could
chew because | already had a lot of work to complete.

A) have to work hard

B) impress my boss

C) take on more than | can handle
D) eat greedily

72) Fill in the blanks with correct option:

He brings chocolates whenever visits us and takes pet wherever he goes.

A) she/her
B) his/he
C) her/she
D) he/his

73) Fill in the blanks with correct option:
We gave them opinion and they gave us opinion.

A) Our's/Theirs
B) Ours/Their's
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C) Our/ Their
D) Our/Their's

74) Choose the correct option to complete the sentence:
All telephone reservations must be confirmed writing.

A) by
B) in
C)on
D) to

75) Choose the correct option to complete the sentence:
The load was lifted a crane.

A) by means of
B) through

C) in case of
D) upon

76) Choose the correct option to complete the sentence:
Women played a relatively role in the organisation.

A) major

B) best

C) biggest
D) miniature

77) ldentify the Compound sentence.

A) The engine drives the wheels.

B) We sat down and started the exam under the strict supervision of the teacher.
C) She was always the driving force behind the scheme.

D) They are just empty promises.

78) Given below are 4 words. Identify the one that has been misspelt.

A) Delicious
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B) Sluggish
C) Acceptible
D) Passivity

79) Given below are 4 words. Identify the one that has been misspelt.

A) Abbess
B) Abetment
C) Ablation
D) Acoutics

80) Identify the synonym for the word — parsimonious

A) fatherly
B) friendly
C) miserly
D) kindly

81) Identify the synonym for the word — ruthless

A) callous
B) porous
C) viscous
D) ponderous

82) Fill in the blanks with the correct form of verb:
Breakfast cereals with vitamins.

A) are enriched

B) enrich

C) is enriching

D) has been enriched

83) Fill in the blanks with the correct form of verb:
His dog generally everywhere with him.

A) go
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B) goes
C) have gone
D) shall go

84) Select the right verb for the blank:

The court the grandmother, as the guardian of the orphan child.

A) appoints
B) appointing
C) appointed
D) appoint

85) Choose the antonym of the underlined word.
The clergyman wrote an elegy in the country churchyard.

A) Layman

B) Ecclesiastic
C) Parson

D) Pastor

86) Choose the correct article to complete the sentence:
Hari, goalkeeper, saved the match.

A) a

B) an

C) the

D) No article required

87) choose the correct article to complete the sentence:
You should appear calm in interview even if you're terrified.

A) an

B) No Article required
C)a

D) the
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88) Identify the part of the sentence that has an error:
Yesterday, while | was outside, my friend has come to my house.

A) Yesterday,

B) while | was outside
C) my friend has come
D) to my house.

89) Choose the meaning of the italicized idiom used in the given sentence.
The young lady bumped into the little boy so hard that he fell and, then, added insult to injury by

demanding that he should apologize to her.

A) made a bad situation worse
B) scolded him

C) teased him

D) injured him

90) Choose the Pronoun in the given sentence:
The children were arguing among themselves.

A) themselves
B) among

C) were

D) children

91) Fill in the blanks with correct option:
It looks as if it is going to rain, so | can't dispense

A) with
B) for
C) from
D) of

92) Fill in the blank with correct option:

The crisis will soon blow

my umbrella.
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A)in
B) on
C) over
D) of

93) Choose the correct option to complete the sentence:
There was a of traffic as the road was impassable.

A) relocation
B) allocation
C) diversion
D) reversion

94) Choose the correct option to complete the sentence:
Vegetarians have an to meat.

A) enthusiasm
B) aversion
C) attraction
D) affection

95) Identify the Simple sentence.

A) They nearly ate everything before we had arrived.
B) The bee turns nectar into honey.

C) Juliana had a lovely nature so everyone liked her.
D) She tries to be neat, but her husband is a slob.

96) Choose the correctly spelt word

A) Magnifisence
B) Magnifiscence
C) Magnifisense
D) Magnificence

97) Identify the correct synonym:
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Entangle

A) Punish
B) Fend

C) Bend

D) Ensnare

98) Identify the correct synonym:

Dither

A) Exaggerate
B) Agitation
C) Act

D) Calm

99) Fill in the blanks with the correct option:
I tell you, but | forgot.

A) am going to
B) will

C) was going to
D) will try to

100) Select the right verb for the blank:
She carried flowers whenever she the shrine.

A) visited
B) visit
C) visiting
D) visits
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Section 3 - General Awareness

No. of Questions: 50

101) In which city was the 23rd edition of the Asian Athletics Championship conducted?

A) New Delhi
B) Doha

C) Dhaka

D) Sharjah

101) URIATS Ty ATEIAATAT bl 2391 HERIOT ford R & I v T UT?

A) 75 el
B) aler

C) g1

D) grReg

102) Which chemical is used as a preservative in acidic foods such as pickles, carbonated drinks?

A) Sodium nitrite

B) Sodium propionate
C) Sulfur dioxide

D) Sodium benzoate

102) 30 Wieg Uery oY o SR, Siefes 0 & qRRets & &9 & e [@rfas gers &1 3uanT
femam ST &2

C) gew S1g3iiarass
D) gtfea# ssiiue

103) Which one of the following materials is an insulator?
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A) Silver

B) Diamond
C) Mercury
D) Iron

103) f=ttariad & ¥ B4 Ul amel faegaie 87

A) Tiéy
B) &nr
C)ury

D) fig

104) ‘Prohibition of traffic in human beings and forced labour’ has been added in which category of
fundamental rights of our Indian Constitution?

A) Right against exploitation

B) Right to freedom

C) Cultural and educational rights
D) Right to equality

104) BHR YR Tfaen= & Ao 3RHRT & HHd dEh) SR TeRA Heigdl IR ufaser o fha
Soft 3 ST 82

A) =N & faeey 3fEsR

B) Tac=ar &1 31fRisR

C) wrefer 3R Rrem Wath 3R
D) Swar &1 3R

105) Where is the Velankanni Church situated?

A) Goa

B) Tamil Nadu
C) Maharashtra
D) Karnataka
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105) Jelichostl T BB AT 872

A) e

B) afirersi
C) grrTSg
D) seteen

106) The English meaning of the Sanskrit word 'Himalayas', which is the home to the world's
highest mountain peak, Mt. Everest is

A) Roof of the World
B) Abode of Snow
C) Rocky Iceberg

D) Abode of Clouds

106) TEH ree; ‘ATer, Sl Gfarar A Yo Sl add A, HISC TakEe BT IR ©, BT 3dsh 372 1
&?

A) T 3B G des
B) srals Sfib &t

C) grhr 3mmegest

D) sreilg 3iith Femssa

107) The Siliguri Corridor, a narrow stretch of land connecting mainland India with the north
eastern states of India is popularly known as

A) Transit route

B) Multimode route
C) Chicken's Neck
D) Peacock's Neck

Page410f85



Setld: 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

107) RIS IRIRER, HfF BT T Gt 87 Sl HRd & A& YA DI HRd b 3a3 Udt T2t B 1Y
Searg | U8 forg 9 9 dieia 82

A) gifse &

B) AediAls we
C) Riepeq A
D) ey A

108) Among the given the options, identify the incident that took place in the year 1919.

A) Chauri-Chaura Incident

B) Jallianwala Bagh Massacre

C) First War of Indian Independence
D) Non-Cooperation Movement

108) T U ket & I, a§ 1919 & =é geAT S Ugd 3|

A) - g
B) snferatarer ST A3E8R
C) gorer YR Tad=ar Gare

D) arqganT sfigia-

109) Who among the following led the peasant movement in Awadh demanding the abolition of
'Begar’, and social boycott of oppressive landlords during the British rule in India?

A) Surendra Sai

B) Chittur Singh

C) Baba Ramchandra
D) Madhukar Shah

109) f=tfaf@d 7 A freret Siae & fraret Sfialer BT -dea fama, foraet HIRd 3 3f3eh Ara &
SR SR 1 WA B 3R GHTRRY FHIGRT B AT Sfgsehr 1 7Tl Y T8 o2

A)Es\}agg
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B) frR Rl
C) q1e1 vH=ig
D)y s ame

110) As per Atrticle 55(3) of the Constitution of India, the President of India is elected through which
of the following processes?

A) Territorial representation
B) Functional representation
C) Proportional representation
D) Minority representation

110) U fIemeT & S ede 55 (3) P SFTAR, HRA & Iseufa Ao ufmansit & 8 fras
garT g4 S1d §?

A) wreRIss yfafaftcs
B) sriteras afafafaea
C) srymfers sfafafca
D) sreqeiegs ufafafca

111) The Indian government's chief legal advisor and primary law officer is

A) The Solicitor General of India
B) The Chief Justice of India

C) The Secretary, Ministry of Law
D) The Attorney General of India

111) YRAd WHR & &I I AGDR 3R 8Tl BT AR HIF &2

A) YR & Fifafex S Rd
B) YRd & Hzwr wamareder
C) wfera, ST #rera

D) yRd & 3refet o Ra
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112) What is Aditya - L17?

A) New hybrid car developed by Honda Motors, India
B) Battery operated helicopter developed by DRDO
C) First mission of ISRO to study the Sun

D) Industrial robot developed by BARC

112) 3MfecT L1 &R g2

A) gisT Aied, YRd ganT [AHfad s gIsfs R
B) DRDO 2@ fasr e dedy Fanford gefereex

C) g 1 3regger B & fAT ISRO 1 Ugdl A
D) BARC garr fasfaa sileiferes siie

113) The first edition of Khelo India School Games (KISG) inaugurated by Prime
Minister Narendra Modi was held in which of the following cities?

A) New Delhi
B) Pune

C) Vizag

D) Chennai

113) TEITT#EY g ACT GaRT eared Wdl $f3ar Tha 15 (KISG) BT Ugdl FEhvT Hetfariad &
Y fFg IR SIS R 7T U1?

A) 78 el
B) qot

C) 39T

D) Jeets

114) Which Cricket team clinched Raniji Trophy title 2018-197?

A) Mumbai
B) Rajasthan
C) Vidarbha
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D) Jharkhand

114) T8 Torehe &1 = TSI ETHT 2018-19 HT F-T SidT?
A) T

B) qrereu=
C) Reey
D) grds

115) The world's first 5G phone was released in which of the following countries in April 20197?

A) Denmark

B) Singapore

C) United States America
D) South Korea

115) GferaT ST UG 5G W1 3iier 2019 et & I ey Q=13 SRy fovam T Y12

A) saATh

B) ooz

C) ¥gaa wswr sRa
D) Zfaor hifar

116) In March 2019, who among the following was appointed as the Chairman of Life Insurance
Corporation of India(LIC)?

A) T C Suseel Kumar
B) M R Kumar

C) Varsha Sharma
D) Raj Kumar

116) AT 2019 #, R Sita ST a1 (LIC) & 3reweT & &9 #F Arafafad & 9 ey e fean
TaT?
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A) & 3t =il $AR
B) T 3R pHR
C) au eraAt

D) 315 $HR

117) Invar, a nickel steel alloy is used in clocks due to which of the following characteristics?

A) Negative thermal coefficient

B) Positive thermal coefficient

C) Low coefficient of thermal expansion
D) High coefficient of thermal expansion

117) SR, T fasher Tl 4 U, DT IUANT a2yt & Reafar@d 7 U frg [FAvar & SR R
STl 87

A) oTlcAS e Ul
B) eratresres arster UMD

C) o adig fawar Tuiie
D) == A1ty faear uniss

118) Which one of the following waves/rays CANNOT pass through vacuum?

A) Sound waves
B) Gamma rays
C) Ultraviolet rays
D) Radio waves

118) fo=ttarild & ¥ DI Ul et / ot ey (dergW) © w1gh oR gahal! &7

A) eafer a7
B) e fegor
C) ralarey feRzor
D) Y= a3
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119) The ideals of 'liberty, equality and fraternity' stated in the Preamble of the Indian Constitution
have been taken from the

A) Russian Revolution
B) Irish Revolution

C) French Revolution
D) Spanish Revolution

119) YR HIeT 1 See iR # afoTd Fad=ar, JHHdT 3R SYdr & 3meif & fa wifea 9 fomr
T 87

A) e sifa
B) smafer wifa
C) thar wifay
D) vt shifar

120) Who among the following appoints the Prime Minister of India?

A) President of India

B) Governor of state

C) Citizens of India

D) Chief Justice of India

120) fAFEAT @ # § B YR & quta 741 A1 HgFd Hl 57
A) YRd & seafa

B) T &1 asare
C) YRd & aeR®
D) YRa & Az wamarher

121) Which of the following Articles of the Indian Constitution declares that no person shall be a
member of both the houses of Parliament?

A) Artcle 100
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B) Article 101
C) Article 98
D) Article 99

121) REafaf@a # @ URAA Tfaune B1 S A1 3fwde i 1§ 6 BIs HI cafda 998 & et
Hew HTHEGET g1 g2

A) 3= 100
B) /=< 101
C) sz 98
D) sf=ese 99

122) Onam, the biggest Hindu festival during which snake boat races are conducted, is celebrated
in which state of India?

A) Karnataka
B) Kerala

C) Assam

D) Tamil Nadu

122) 3N, TR SS1féE e, oI SR TT b1 SIe AT &1 Siielt B, YR & fongg oy
T ST 82

A) Fsitedh
B) 3xa

C) arag

D) affrereg

123) In which of the following regions in India is the Ramman festival celebrated?

A) Malwa region

B) Bundelkhand region
C) Garhwal region

D) Marwar region
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123) YRA & Pefaf@d & & frg & & AT 3cda J9[™T SITdl 82

A) grerar &=
B) gecradg ety
C) TTeard &
D) ARarg et

124) Which of the following communities celebrates the Hemis festival in honour of Guru
Padmasambhava's birth anniversary?

A) Buddhist
B) Jain

C) Sikh

D) Parsi

124) fAFATEE 3 A I I GHE T[T TeATsTd BT STl & TFAT & 3T AgR H 82

A) steerersit
B) Sterersft
C) g

D) et

125) Cardamom Hills are located in which of the following mountain ranges in India?

A) Vindhya Range
B) Western Ghats
C) Eastern Ghats
D) Aravalli Range

125) HRT & ST FgTisal fefarad & ¥ fha ada saa & feud 82
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C) gdf ure
D) srrael uaa si@an

126) Sir Creek forms the boundary between which of the following two regions of India and
Pakistan?

A) It separates Gujarat state of India from Sindh Province of Pakistan

B) It separates Punjab state of India from Punjab Province of Pakistan
C) It separates Odisha state of India from Sindh Province of Pakistan

D) It separates Rajasthan state of India from Punjab Province of Pakistan

126) R Fieh R 3R wifrearst & Pefaf@a o1 § g a3t & s JHRET ST 82

A) Tg URA & ORI T D ATfREdTel B er 9id & ST Pl &
B) a8 YRd & USITE AUed B! Trfehedred & USTE S & SeT PRl §
C) g YR & 3N To DY IrferEarel & f3er Iicy o S7eT Bl 8
D) 98 URA & USTEAT T B! IIihEdlel & USTE i o 3T 6l o

127) In support of the Khilafat movement, the Non-Cooperation movement in India was started by
which of the following Nationalist leaders?

A) Subhash Chandra Bose
B) Bal Gangadhar Tilak

C) Mahatma Gandhi

D) Raja Ram Mohan Roy

127) Reaifaf@d Iseardy 13l & J foheeh eaRT [athd Sficle & THY 3 YR 7 &gl
3fiarer & 3 T U172

A) gUTY e S
B) qret TR fareres
C) mrgrear ieh

D) 3re1 I AigH 0

Page500f85



Setld: 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

128) In which year was the Rowlatt Act passed that was officially known as 'Anarchical and
Revolutionary Crimes Act'?

A) 1917
B) 1919
C) 1918
D) 1920

128) Jdic vare frg ¥ & aria frar a1 o1, O e diR TR 'SRISIEH 3R Hifaery 3URTY
sffATa &9 J SFET Sy 912

A) 1917
B) 1919
C) 1918
D) 1920

129) Supreme Court of India has formulated a set of guidelines to be followed for entertaining
letters or petitions recieved by it as PIL(Public Interest Litigation). Which of the following options
falls under the given set of guidelines?

A) Petitions related to landlord-tenant issues

B) Petitions against police for refusing to register a case

C) Issues related to admission into medical and other educational institutions
D) Service matter and those pertaining to pension and gratuity

129) YRd & Fafed =amTerd A PIL(Sfed A1) & &9 & gred g4t dT arfensil & e o« foo
fenfardelt B1US Je gfauried frar 8| Feafarad & 9 i 91 fdeq 37 genfeeat & d¢ & sideid
3T &2

A) BT FTferes-RAIgR Heg! & Seife A
B) AT got R U 37HR A R Yo & e Frfiemr
C) Farfarear 3R srer e Fewmet # gder @ et qeg
D) siterdy eielt 3R drerer 1R reerét F waferar A

130) As per Article 53 of the Constitution of India the executive power of the Union is vested in the

A) Chief Justice of Supreme Court
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B) Prime Minister
C) President
D) Speaker of Lok Sabha

130) HRd & TIIETT & 3 Iede 53 B STUR I &I HrdTor AfFa

A) STaas ST & JEg ~araree F AfRd 8
B) werret 7t 3 iR @

C) xregufar # fAfa ¢

D) @it T & 3reret & AR &

131) Which of the following dates is celebrated as the National Technology Day in India to
commemorate Operation Shakti?

A) 29th August
B) 5th June

C) 23rd June
D) 11th May

131) SRR IfF BT 31TPeieat B & T HeATai@d & T D W diG TsET i@ @b feaq &
9 F TS ST 82

A) 29 3rTEd
B) 5o
C) 23 5

D) 1173

132) World's lightest satellite weighing only 64 gms named as 'KalamSat' was launched by which
of the following space organizations?

A) Indian Satellite Research Organization
B) National Aeronautics Space Agency
C) European Space Agency

D) Russian Federal Space Agency
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132) AFATaf@d & ¥ fora 3iaReT YIS garT HAmHdIe AHG 32g & a4 gosh 3998 Sl veifa
fomar T T fSIehT a9 Bad 64 UTH 67

133) Udio, India's first social mobile wallet was launched by which of the following digital payment
start-up companies?

A) MobiKwik

B) TranServ

C) Oxigen

D) State Bank Buddy

133) fReaafaf@d # ¥ fh RfSea YIdH 99ie T 3(U HUH! garT HRd S Tgel AP Hldgd
gide, Udio o1 & fomam 7T U2

'

w

v

:

)
)
)
)

3

d oSt

134) The highest Life Time Achievement Award in Sports and Games instituted in 2002 by the
Government of India is

A) Rajiv Gandhi Khel Ratna Award
B) Dronacharya Award

C) Dhyan Chand Award

D) Arjuna Award
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134) URT ARBR ¢aRT 2002 & TAIT VA 3R sh1eT & 847 # Fafea AW <RH 3rehadie 3ars
(SHITIRT GIEHR) B I 62

A) 3refta it Wl TeoT REPR
B) gromars gresR

C) eaerde; QrEaR

D) 3fSfet Greehre

135) Which cricketer is named the Goodwill Ambassador for Street Child Cricket World Cup 20197

A) Mithali Raj

B) Harmanpreet Kaur

C) Mahendra Singh Dhoni
D) Virat Kohli

135) T T180s fhehe faed HU 2019 B forw v fohehex I T3 Toadst A1TAd fohar T 87

A) TRdTel I
B) gxaadid R
C) miges g 4=l
D) farte el

136) How many constituencies voted in the first phase of the Lok Sabha Elections 20197

A) 71
B) 81
C) 91
D) 99

136) TSI T 2019 B UG IR 7 ety faTast a1t 3 Har gam?

A) 71
B) 81
C) 91
D) 99
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137) Which of the following states did not go to the polls in Phase 1 of the Lok Sabha Elections
20197

A) Andhra Pradesh
B) Assam

C) Bihar

D) Tamil Nadu

137) fAe=Afaf@d & 9 $IF 91 e, A GHT I 2019 & Ugdl =R & A& U1?

A) 31ier ger
B) s/
C) RgR
D) affrererrs

138) Where in the human body is the urea formed?

A) Liver

B) Kidney
C) Stomach
D) Spleen

138) AIMd 2R 3 JRAT gl a1 62

A) e
B) e

C) s
D) it

139) Woollen sweaters keep us warm during winters. ldentify the CORRECT reason which
supports this statement.

A) The trapped air in the woollen sweaters is a good conductor of heat
B) The trapped air in the woollen sweaters is a bad conductor of heat
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C) The wollen sweaters reflect the heat away and keep the body cool
D) The wollen sweaters allow air to circulate below the fabric

139) Sl E3eX &3 TfEAT & SR 911 WA &1 3T HYT HTFASH B I TE&T PRI B ggarey |

A) FHE3ex 3 B EaT, O T ey Yaed Bt

B) Sitwdex 3 Bl gal, A1y & 3rect Yaled 18t gial &
C) Tt edex AU &l qyafda HRd & 3R R B dSREd &
D) Sitedex, a1 &l pUsd Hidk Farikd HA d &

140) The total number of Fundamental Rights in Indian Constitution after the enactment of the 44th
Constitutional Amendment, 1978 is:

A) 6
B) 5
C)4
D)7

140) 443 Faenfas MY, 1978 B R & 916 HRAY Fiaenet 7 #Hifors 1fRHRT 6 Pl
AT e 52

A) 6
B) 5
C) 4
D)7

141) Ugadi is celebrated as New Year's Day by the people of which of the following states?

A) Karnataka

B) Assam

C) Madhya Pradesh
D) Himachal Pradesh

141) TR & 9 I I ToT & it eaRT 3IME BT U A & e & &9 3 FART STl 82
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A) sefieen

B) s/

C) Fer gear
D) feamerer gear

142) The rock-cut temples of Mahabalipuram were built under the patronage of the

A) Pallava kings
B) Chola kings
C) Chera kings
D) Pandyan kings

142) TR D1 BIC PR TAIY T AFTHTIRH o FIEI BT oA ToT foft ST B w&TOT 7 53T 412

A) geara ISl
B) =@ 3o
C) =7 1o

D) gigarer sl

143) Which of the following ridges is located in the northern section of the Central Indian Ocean
Ridge?

A) Nazca Ridge
B) Gorda Ridge
C) Carlsberg Ridge
D) Cocos Ridge

143) RFAfaf@a & S I 9dd Heh ALY g HERITR Hehd 3adr HIT 7 2ua &2

A) FI5IpT Hedh
B) aitst ek
C) #redasT heh

D) piprgdHesh
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144) Who among the following rulers marked the end of Maratha dominance in Punjab with the
third battle of Panipat in 17617

A) Akbar

B) Ahmad Shah Durrani
C) Ibrahim Lodi

D) Bairam Khan

144) r=af@d arae & ¥ fhaer 1761 7 UFUd B frad TSIE & 91y USTd & TRIST v8ged & 3id
P! AT far?

A) 3fHeR

B) srgwq =g et
C) snfear @iy

D) s\ @@=

145) Who among the following was defeated in the Battle of Plassey in 17577

A) Siraj ud-Daulah
B) Lord Clive

C) Colonel Watson
D) Mir Jafar

145) 1757 3 vordY & Jagr 7 fRe=faf@ed & d S WRifsTd g ur?

A) faRTsT Jearan
B) &i$ Feirsa
C) eter dlcg
D) fiR SR

146) The Bharatiya Janata Party (BJP) is the successor party of which of the following parties,
which merged itself into the Janata Party in 19777

A) Bhartiya Shakti Sangh
B) Bhartiya Jana Sangh
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C) Bhartiya Hindu Sangh
D) Hindu Mahasabha

146) YRATT ST g€t (BJP) eaAfaif@a & & fre aréf & saufRery arél §, St 1977 #F ST aréf
H e g1 Tg 2

A) YRAHT Qe 99
B) yrditg S 49
C) Wrdia g du
D) g wgrs

147) What is the wireless technology developed at Indian Institute of Technology, Kharagpur for
remote monitoring of condition of those patients who are ferried in ambulances?

A) AmbuSens
B) Live-Mont

C) Diagno-ext
D) RemoteAmbu

147) HRA A Teare TSR & IhAd IR doh-Ih $1 a1 14 § il Teded & i
B aTdd AL BT GIE fALETOT BRI

A) G

B) @3a-Alee
C) sreaett-tae
D) Retewsy

o

148) ROSA is an experiment conducted by NASA to power satellites and spacecrafts. ROSA is an
abbreviation for:

A) Research On Satellite Adamance
B) Roll-Out Solar Array

C) Research On Satellite Adaptability
D) Roll-Out Solar Adaptability
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148) ROSA 33rgT 3R 37afer Arat Bl et o & forw NASA ZaRT Henfora Ueb waiter 31 ROSA
fergrenT @ifaTed &9 52

A) R 311 dearge usie

B) Jd-3M3eTer 3R

C) Rt 37 Yedrse vsteiatare
D) - 33 IeR wsTeiafordr

149) In Asian Games 2018, who won the gold medal in Men's Triple Jump Event?

A) Tejinder Pal Singh
B) Rohan Bopanna
C) Divij Sharan

D) Arpinder Singh

149) 2018 TRRIATS Well &, Y&st &I feuer §U 3dc & TIoT Ug fordet SildT?

A) afvier Urel fe
B) 38 Sge=r
C) Rfast =R
D) 3rfdiex fie

150) Which of the following awards is given mainly to the overall top winners in the Inter-University
tournaments?

A) Maharaja Ranijit Singh Award

B) Maulana Abul Kalam Azad Award
C) Vijay Hazare Award

D) Santosh Trophy

150) feaAfaf@d & ¥ &I 9 REdR & &9 ¥ SfdR-faeafdearery Al & $ad oy aidnsit &1
feram ST 87

A) HERTST 0TS g JREhR
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B) HIeHT 3feet el 3HToTE [REHPR
C) o oIk 3rars
D) ddiy grfr
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Section 4 - Knowledge of Chemistry

No. of Questions: 50

151) Which of the following will be formed when phenol is brominated in aqueous medium?

A) 2,4-dibromophenol
B) 2-bromophenol

C) 2,4,6-tribromophenol
D) 4,6-dibromophenol

151) 56 RpAter B Tl ATETA & IRATIT ar 9T 8, 79 o7 & T B9 91 §94d7 82

A) 2 4-sTESIAN BT
B) 2-stafperer

C) 2,4,6-cT3sANRBaiTer
D) 4,6-sTsieNRAeATer

152) The product C in the reaction PhC=CH + PhLi — C, (Ph = Phenyl) is

A) PhC=CHLi + PhH
B) PhC=CLi + PhH

C) PhHC=CHLi + PhH
D) PhCH=CLi + PhH

152) 31 f3RaT PhC=CH + PhLi — C, (Ph = fkeTTsen) & 3ca6 C

A) PhC=CHLi + PhH
B) PhC=CLi + PhH

C) PhHC=CHLi + PhH
D) PhCH=CLi + PhH

153) A catalytic process in which the catalyst and the reaction mixture are in different phases is

known as

A) homogeneous catalysis
B) heterogeneous catalysis
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C) hypergeneous catalysis
D) hypogeneous catalysis

153) I8 3T ST a1 HEald! 8, ForasT U 3coa MR 31TATRaT AT SIRTSenT raeer g1 7

A) Tt 3T
B) fawaiel 3cuvor
C) greaeh@ad 3aRor
D) grsurshifears 3coror

154) What is the effective atomic number of the central metal ion in the complex [Pt(NH3)4]?*?

A) 84
B) 86
C) 82
D) 85

154) TATE [PH(NHa)a]2* 3 HERT UTq, 3T BT yearel URHTU] T&T fhclell 62

A) 84
B) 86
C) 82
D) 85

155) What will be the molar conductance at infinite dilution (L°) for Al2(SO4)3 at 25°C? Given 1%4°* =
65 and 1%04? = 102 mho cm? mole.

A) 365 mho cm? mole™”
B) 436 mho cm? mole™
C) 543 mho cm2mole™
D) 268 mho cm? mole™
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155) 25°C TR Al2(SO4)s P TIT 3d Tl (LO) TR HITR dTeiehcd fehctall BRTT? 2T 7T 043+ = 65 3R
9s042 = 102 mho cm? mole' g1

A) 365 mho cm? mole™
B) 436 mho cm? mole™’
C) 543 mho cm? mole™’
D) 268 mho cm? mole™

156) What should be the ideal value of the critical coefficient for a Van der Waal's gas?

A) 3.47
B) 4.12
C) 2.66
D) 4.02

156) A S aTex 114 o ToIT shifcieh T 1 31Teret HIF RhciaTT BT dTfgT?

A) 3.47
B) 4.12
C) 2.66
D) 4.02

157) Why does KMnO4 show intense purple colour?

A) Due to metal to ligand charge transfer
B) Due to ligand to metal charge transfer
C) Due to d-d transition

D) Due to light absorption when exposed

157) KMnO4 g darstt 37 o2t e &2

A) YT, forTes 98T 3icRUT & DHRUT

B) forates @ YT, 97 30T & HRUT

C) d-d HshoT & BRUI

D) 3MTqd 817 TR weprer o S(TRNHUT & HRUT
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158) Which of the following reactions of carbonyl compounds with Grignard reagent is CORRECT?

A) Acetaldehyde gives primary alcohol
B) Ketone gives secondary alcohol

C) Formaldehyde gives tertiary alcohol
D) Formaldehyde gives primary alcohol

158) fAraAfaf@a & q S It RS siffiewds & 1Y weffae aiffiet S 3fafmar a8 82

A) e dgTes, WS foFeler adl &
B) &rele, ATea@eh 3rehIgTer ol &

C) miierdierss, dld® 3iehlele odl &
D) wisterdieres, wruffie sfediare odl &

159) The alcohol which on oxidation with K2Cr207/H2S0O4 yields acetic acid is

A) methanol
B) ethanol
C) phenol
D) butanol

159) I8 YeapIaTel Sl KoCraO7/H2S 04 & T 3i7erAIEH0T IR UiARe 31el odl & 98

A) BY=Td 8
B) sd9Ta §
C) Rpeiter §
D) sgera &

160) What kind of polymer will form when styrene is treated with 1,4-divinylbenzene?

A) Cross-linked polymer
B) Branched polymer
C) Linear polymer

D) Diagonal polymer
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160) SIS T3t 1 AT 1,4-sT3TATgesolT & DS G €, T6l foFet Feh1 bl Sgereb Sd 62

A) ford, s a5
B) enfere Sgas
C) 3 5w
D) faarot sgaie

161) Calculate the enthalpy of formation of HI from the data given. The bond dissociation energies
of Hz, 12 and HI are 104, 46 and 87 kcal/mole respectively.

A) AH= 24 kcal
B) AH= -63 kcal
C) AH= -24 kcal
D) AH= 63 kcal

161) faT T TS HI & fovaTor 1 Adig enfiar & AT 31 Ho, |2 3R HI & detr faziistel S
AT 104, 46 3R 87 keal/mole |

A) AH= 24 kcal

B) AH=-63 kcal
C) AH= -24 kcal
D) AH= 63 kcal

162) How many constitutional isomers are possible for the molecular formula CeH14?

A)5
B) 4
C)6
D)7

162) 3MM0Tfa% G CoH14b T el EXT=TTcaAs JATGUT HHd &2

A) 5
B) 4
C)6
D)7
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163) Which behaviour of primary, secondary and tertiary alcohol is CORRECT when reacted with
Cu at high temperature?

A) Tertiary alcohol gives ketone
B) Tertiary alcohol gives alkene
C) Primary alcohol gives alkene
D) Secondary alcohol gives aldehyde

163) T, ATEAfAS 3R qd1UD fehigiel SId 3od dIUHM UR Cu & 1Y 3ifAfRar H3d &, a9
ITPTD I HI UTER TEY 62

A) qcffaes sreshrgre, FelT ST 8

B) qcfiuh 3reahigler, et Gl §

C) wrarfie 3reahiglel, 3TedhleT odl &

D) Arearfaies sreigidr, ifosgres odl ©

164) Phenols are more acidic than monohydric alcohols because of

A) aromaticity

B) inductive effect
C) resonance

D) hyperconjugation

164) fres HRU AlAIEIST3e 3eehigiel sl Ja-1 H Thelel 3T 3FlT 872

A) ST
B) oxfores gama
C) 3f7Te

D) srfaageseT

o

165) The CORRECT order of the increasing pKa values for the following alcohols is:

A) prop-2-en-1-ol < propan-1-ol < 1-phenylmethanol
B) propan-1-ol < 1-phenylmethanol < prop-2-en-1-ol
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C) prop-2-en-1-ol < 1-phenylmethanol < propan-1-ol
D) 1-phenylmethanol < prop-2-en-1-ol < propan-1-ol

165) oA TaIfld 3redied & foT 9gd pK.HTT PBTHET el T 872

A) Qrg-2-T-1-31Td < NTeT-1-3d < 1- paTrsafasiTer
B) guet-1-3{1dl < 1-ReeTgeli@gaier < M9-2-T7-1-3{1d
C) W19-2-TF-1-3{1d < 1-ReASafAgATeT < NYF-1-311d
D) 1-frsrgafagsiier < M9-2-T9-1-3{1d < 9i9et-1-3Td

166) What will be the expected product when 2,4-dimethyl pent-3-one is treated with iso-propyl
lithium followed by acid hydrolysis?

A) {(CH3)2CH}2CHOH

B) {(CH3)2CH}sCOH

C) (CHs)2CHCH20H

D) (CH3)2C(OH)CH2(CHs)2

166) TR 3cUTe 4T BRI OIS 2,4-315AUTSe Uee-3- 1 3fAfHar Ul s 9
BT § SR ST HIG 315l glSsaiad 4?2

A) {(CHs)2CH}2CHOH

B) {(CHs)2CH}sCOH

C) (CH3)2CHCH20H

D) (CH3)2C(OH)CH2(CHs)2

167) Which product will be formed when propanoic acid is reacted with excess MeL.i followed by
hydrolysis?

A) Butanal

B) Ethanal

C) Methyl propanoate
D) Butan-2-one
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167) Y=irssh 3Fa & 3fAReFd MeLi & I1Y 31fAfHar B4 3R IS G Td-3T9e I, B A1
3cqTE ST &2

A) sged

B) sg4Td

C) Framser woree
D) sges1-2-a4

168) What will be the possible product when CH3COCI is treated (CH3)4Sn?

A) Butan-2-one
B) Propanoic acid
C) Propanal

D) Propan-2-one

168) 5§ CHaCOCI &I 3FRAT (CH3)4Sn T BRI STdl! §, T8 HHT IcuTe T B2

A) sgTd-2-a1

B) wiyatess 315
C) gderer
D) giger-2-a7

169) A group of particles held together in anyway like micelle may be regarded as

A) aggregate
B) flocculate
C) coagulate
D) precipitate

169) el 1 fohell U U FATr SIF SRS ot & Ueb THE D! e & & HHT S Fobell 67
A) dardte

B) wreftareic

C) rtageie
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D) mifafee

170) When negatively charged Agl is coagulated with equal volumes of the given electrolytes, what
will be the minimum molar ratio of concentrations of these electrolytes?

The electrolytes are: NaNOs, Ba(NOs3)2, AI(NO3)s and Th(NO3)4

A) 1:2:3:4
B) 1:3:2:1
C) 4:3:3:1
D) 4:3:2:1

170) 56 AFRTcHSE T T GHIR Agl B! &T T Saraeianee & sRISR ATET & 1Y THfad f3m SfTdT ¢,
s $1 SoIFEIeTST T FigdT Bl =gAdH HITR 3UTd Rhct=IT SN2

SaFeIeTse & NaNOs, Ba(NO3)z, Al(NO3)s 3R Th(NO3)s

A) 1:2:3:4
B) 1:3:2:1
C) 4:3:3:1
D) 4:3:2:1

171) What will be the order in third ionization energies of group 13 elements?

A)B>Ga>TI>Al>In
B)B>Ga<TI>Al>In
C)B<Ga<Tl<Al<In
D)B<Ga>TI<Al>In

171) GHG 13 dedl B AR SATIIDBRUT SaiT 7 5T FaT GHIT?

A)B>Ga>TI>Al>In
B)B>Ga<Tl>Al>In
C)B<Ga<TlI<Al<In
D)B<Ga>TI<Al>In

172) Which complex among the following is the inner metallic complex of first order?
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A) Na[Co(acac)s]
B) [B(acac)2][FeCl4]

C) Na[Co(NO2)s(acac)s]
D) [Cu(acac)s]

172) TPt Tafeat 3§ B Ot v 3t 1 shiady uq gafte 82

A) Na[Co(acac)s]

B) [B(acac)2][FeCl4]

C) Na[Co(NOz2)s(acac)s]
D) [Cu(acac)s]

173) How is the acid dissociation constant of a weak acid (Ka) related to the concentration of the
acid and its equivalent conductance (l)?

Let the conductance at infinite dilution=1°. (Symbols and notations carry their usual meaning)

A) Ka=a2C?/(a%-a)

B) Ka=0?C/a%(a-a)
C) Ka=02C/a®(a%+a)
D) Ka=0?/Ca’(a’-a)

173) Gl 37 (Ka) B 37501 Ta21oTet FERieh BT, 3T & Wiegal SR IUD (e lelehed (1) b 1Y
3 Fefid 87

ST Tl R drerehea=1° g | (Riegt 3R Hehell & 307 yarfera 318 81 §)

A) Ka=a2C?/(a%-a)

B) Ka=0?C/a’(a-a)
C) Ka=02C/a’(a%+a)
D) Ka=0?/Ca’(a-a)

174) Which of the following equations is CORRECT?

A) Specific conductance = conductance x cell constant
B) Specific conductance = conductance/cell constant
C) Specific conductance = conductance x resistance
D) Specific conductance = conductance/resistance
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174) =1 3 | B9 91 GHIBRUT T 22

A) T3S aTelehcd = dTelehed x 99 FERTH
B) fafirse arelerca = wlelehca/Ad i
C) fafarse araidhcd = dATelehed x UTaRIeT

D) faferse areiehca = aTaidhca/afaRIe

175) What will be the Ecen value of the cell given? Zn/ZnSO4 (0.002M)//ZnS0O4 (0.2M)/Zn. Given
E%n?*/zn=-0.76 V.

A) 0.0295 V
B) 0.118 V
C)0.059 V
D) (-0.059) V.

175) T&T T SHITSSeHT BT Ecel A Thelell BIIT?

Zn/ZnSO4 (0.002M)//ZnSOx4 (0.2M)/Zn
E02n2*20 = -0.76 V &1 T §1

A) 0.0295 V
B) 0.118 V
C)0.059 V.
D) (-0.059) V

176) There are five molecules in a vessel with velocities, 1, 4, 7, 9 and 10 m/s. What will be the
ratio between their root mean square and average velocity?

A) 3.126
B) 1.133
C) 0.882
D) 2.234
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176) 1, 4,7, 9 3R 10 m/s 97 &A1Y T 9T & Uld (U] &| I7b Hd Ae 797 3R 3d a7 & arg
3(UT foreretT BITTT?

A) 3.126
B) 1.133
C) 0.882
D) 2.234

177) What will be value of "b" with respect to the radius of each gas molecule in the Van der
Waal's equation of state? Consider the radius as "r".

A) 2x(2/3)Tr3
B) 4x(4/3)mrr3
C) 4x(8/3)trr?
D) 3x(16/3)tr

177) I SRaATeR Y, 3TEAT GHIDUT 3 Yedeh 119 31U ¥ FBFar & Teest 7 "b" BTAM Rhcilr GHT?
BT 1" & & & 7H of|

A) 2x(2/3)r?
B) 4x(4/3)r3
C) 4x(8/3)tr?
D) 3x(16/3)1r

178) What will be the average kinetic energy in calories for 51 g of NHs at 37 °C?

A) 3.77 kcal
B) 1.26 kcal
C) 2.79 kcal
D) 4.65 kcal

178) 37 °C TR 51 g & NH3 & foIw el & 3 a1faet St fraelr grf?

A) 3.77 kcal
B) 1.26 kcal
C) 2.79 kcal
D) 4.65 kcal
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179) Which reaction among the following generates H202 from hydrazine?

A) NH2NH: treated with excess ozone
B) NH2NH2 treated with water

C) NH2NHz2 treated with carbon dioxide
D) NH2NH:2 treated with excess oxygen

179) oot & Q DI T HTHRHAT gTE5oieT T H202 IcdoeT B 57

A) rfaferd SiiSE & 1Y 3ATHRIT NHaNH:

B) gt & 1y 1A RIT NH2NH:

C) srreiet Srs3iferargs & WY AR RT NH2NH:
D) srfaRerar 3itereisteT & 1Y 31fATBRIT NH2NH:

180) What are the products formed when NHs is treated with NaOCI?

A) NH2NH2 and NH4sOH

B) NH4Cl and NH2Cl

C) NH2NH2, N2, NaOH and NH4Cl
D) NaOH and Hz

180) 5§ NHs 1 31fifHar NaOCI ¥ 81l 8, d9 &1 9 3curg §1d &2

A) NH2NH2 3R NH4OH
B) NH4CI 3R NH2Cl

C) NH2NH2, N2, NaOH 3{R NH4Cl
D) NaOH 3R H>

181) Which Grignard reagent should be chosen to react with COz2 to prepare 2, 2-
dimethylpropanoic acid?

A) s-butylMgBr
B) t-butylMgBr
C) iso-propylMgBr
D) n-butylMgBr
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181) 2, 2-STfAAUTEANTTSH el IR B & faw CO, & 1Y 3fATFAT B & farw &I I Frerars
3T ReheeR T ST <MigU?

A) s-butylMgBr
B) t-butylMgBr
C) iso-propylMgBr
D) n-butylMgBr

182) Which is the CORRECT statement regarding electrophilic or nucleophilic attack on the
pyridine ring?

A) 2, 4 and 6 for electrophilic attack
B) 3 and 5 for nucleophilic attack
C) 3 and 5 for electrophilic attack
D) 2 and 6 for electrophilic attack

182) qrediEieT a7 R SorareleRTet IT ARSI HTHATT & 9R F B T HYT FEY 82

A) sorereTARTaN 3THATT & fT 2, 4 3R 6
B) sfaen<ral 3mepeor & faiw 3 3R 5
C) gorereleraf 3mshaor & fow 3 3R 5
D) sorereiormett 3mshaor & faw 2 3R 6

183) Which of the following compounds are formed when calcium salts of propanoic and ethanoic
acids are heated together?

A) Butene

B) Ethanoic acid
C) Propanoic acid
D) Butan-2-one

183) 91§ Wusiiss 3R TUARD 35al & Hfcudd ddv Th I1Y TRY v 94 §, a9 eafaf@a
DAt 7 T B AT §AT 82

A) s
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B) wyHIs® e
C) Miusitse 35

D) sges-2-a4

184) Which compound will be formed when propanoic acid is treated with HNs in presence of
H2S04?

A) Methanamine

B) N-methylethanamine
C) Ethanamine

D) Dimethyl amine

184) H2S04 1 3UTEUT 3 T FiueAtse 31Fal &1 3TATHAT HNz T R1s oIl &, a8 HiF 1 Aiffiew
FAT?

A) By=3@d

B) N-famseue=sEa
C) wy=3m=

D) srsf@arge s

185) Which acid will be formed when propene is treated with CO and steam under high
temperature and pressure in presence of HsPO4?

A) Propanoic acid

B) 2-methylpropanoic acid
C) Butanoic acid

D) Propanone

185) H3PO4 1 3ufufa # Sa widiet & 31fAfHar CO | HRIS ol & 3R 3= oA 3R gard &
HTY T ST § a9 DI T 303l 12

A) QIgeiTses 315
B) 2-frarsarmiusiise 3
C) sgeige et
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D) wraier

186) What kind of stereoregularity will be obtained in the polymer when TiCl4 and EtsAl is added to
propene to form polypropylene?

A) Syndiotactic polymer

B) Atactic polymer

C) Syndiotactic and atactic polymer
D) Isotactic polymer

186) felIsiIIelieT TUR BIH & forw Sfd 9rdiet ¥ TiCls 3R EtsAl e ST &, qel Sgaie # fher s
S TR FafFear sred grft?

A) fafesairt e Sgad

B) srtfarce sgaie

C) fafesairtfres 3R sifFes Sgoo
D) szt fares sgad

187) Which of the following is a polyamide?

A) Orlon

B) Nylon 6

C) Terylene

D) Polyvinyl chloride

187) oot & T DI I GifaramATss 82

A) 3R

B) 9 6

C) el

D) qrehfasiiser seiiss

Page770f85



Setld: 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

188) Which dye will be obtained when dimethyl aniline is condensed with benzaldehyde at 100 °C
and H2S04?

A) Congo red

B) Rosaniline

C) Malachite green
D) Ramazol

188) 91 sTsfHemse vfafae HTHUTT 100 °C R Seallioserss 3R H2S04 & 1Y BT o1 dl §, a9
I IT SIS UTed SIT?

A) IS

B) gafafaer
C) Aderge
D) 3oreit@

189) Calculate the maximum work which can be obtained when 28 g of nitrogen is reduced from 10
to 1 atm pressure at a constant temperature of 27 °C. What will be the AU and q values?

A) W =1.382 kcal, AU = 0 and q = -1.382 kcal
B) W =-1.382 kcal, AU = 0 and q = 1.382 kcal
C) W =-1.382 kcal, AU = 2.764 kcal and q = 1.382 kcal
D) W =-2.498 kcal, AU = 0 and q = 2.498 kcal

189) 27 °C & &R ATUHM TR & ATSelsisT 128 g, 10 T 1 atm &1d & forw 3=l fFFar S g,
dd uTed 819 a1 AT aH Y & TUAT S| AU 3R q & A fhder gier?

A) W = 1.382 kcal, AU = 0 3R q = -1.382 kcal
B) W =-1.382 kcal, AU = 0 3R q = 1.382 kcal
C) W = -1.382 kcal, AU = 2.764 kcal 3IR q = 1.382 kcal
D) W = -2.498 kcal, AU = 0 3R q = 2.498 kcal

190) Which of the following compounds will undergo tautomerism?
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w| L,
|

190) et & Y D A1 ARk Teragad! & ToR?

o

w|CT,

|
[8]

191) What are the products formed when p-methylphenol is treated with CHCIs in presence of a
strong base?

Mo N
C
B) m‘@*h‘.& + c:@(:mli
Me
o= CHO
C) HE@EE

t HC e
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191) YaeT &TR F1 3UTEATY O p-TAUTsafhaAter i 31fAFIT CHCI; T HRI3 I 8, dd B Q 3cd1e

I &7

A) ko —@—m;

B) m@hﬁ +

192) Which rate expression about enzyme catalyst is acceptable? The reaction sequence:

K1 "‘3
E+8 —— E5 —
k

2

E + Pmduct

A) rate = ka{[EJ+[ESIM{1+(ko+ks)x1/[S]}
B) rate = ka{[E]+[ESI}{1+(ka+ka)/kix1/[S]}
C) rate = ka{[E[+[ESI/{(ka+ka)/kix[S]}

D) rate = ka{[E]+[ESI}{1+(kalk1)x1/[S]}

192) TSITSH 3c9Reh & Y # DI T G(YC) chsteh TR 572 JRTRHAT 3T ©:

K1 k:-
E+5 —— EB -
k2

E + Pmduct

A) rate = ks{[E[+[ES]M{1+(ka+k3)x1/[S]}
B) rate = ka{[E]+[ESI}{1+(ka+ka)/kix1/[S]}
C) rate = ka{[E]+[ESI/{(k2+ka)/kix[S]}

D) rate = ka{[EJ+[ESI}/{1+(ka/k:)x1/[S]}
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193) An amine complex of cobalt has a molar conductivity of 430 mho. It gives 3 moles of AgCl
with AgNOs. Which formula correctly satisfies the given observations?

A) [Co(NH3)sH20]Cl2
B) [Co(NH3)sClI2]Cl

C) [Co(NHs3)3Cl3]
D) [Co(NH3)6]Cl3

193) FIaTee BT TP SIS HPhal 430 mho HTHIER Al adl & | I8 AgNOs & HIY AgCl & 3 Hied
ST 51 D 1 g T T gdetshot o g & 3 U1 Rl 62

A) [Co(NH3)sH20]Cl2
B) [Co(NH3)sClI2]Cl
C) [Co(NH3)3Cl3]
D) [Co(NH3)e]Cl3

194) What will be the Ksp value of AgCl from the given cell whose Ecei = 0.0675 V?
Given cell: Ag/ KCI (0.2 M) (Saturated with AgCl) || KCI/Hg2Cl2/Hg and Ecen = 0.315 V at 25 °C.

A) 0.0789
B) 0.0684
C)0.684
D) 0.789

194) T 7Y ISRt &b fSTABT Ecen = 0.0675 V 8, AGCl T Ksp T Foreal B2
f&am T fSsT: Ag/ KCI (0.2M) (AgCl & |1Y Fdled) || KCI/Hg2Cla/Hg 3R 25 °C R Eceii= 0.315 V

gl

A) 0.0789
B) 0.0684
C) 0.684
D) 0.789

195) What will be the number of binary collisions per mL per second of H2 gas at 1 atm
and 27 °C? Consider the diameter of H2 molecule is 1.35 A.

A) 212x107
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B) 22x107
C) 1726x107
D) 316x107

195) 1 atm 3R 27 °C W H, 19 & 9fay Jbs ufar mL gfasieh Teces Hr @& fhda g2 He 30 &
=T 1 1.35 A 71 of|

A) 212x107
B) 22x107
C) 1726x107
D) 316x107

196) What change in oxidation number will occur when NH20H is present in alkaline solution?

A) From-1t0 0
B) From -1 to -3
C) From -1 to (0 and -3)
D) From -1 to (1 and -2)

196) S8 NH20H &R farerdiat & HIS[@ © 09 iTarfienior Fear 3 &1 IRad= gT?

A)1380
B).13d-3
C)-13 (0 3R -3)
D) .13 (1 3R -2)

197) What happens when sodium salt of diethylmalonate is treated with ethylchloroacetate
followed by KOH and HCI at high temperature?

A) HO2CCH2CH2CO2H

B) HO2CCH2CH2CH2C0O2C2Hs
C) HO2CCH2CO2H

D) (HO2C)2CHCH2CO2H
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197) &7 BIdT § V1§ SIEufaddieie & Qifeas dqul 6 3fAfRar tiiesaRTdee 9 gl 8 iR 39 d
ST 3= dIIAT TR KOH 3R HCI T

A) HO2CCH2CH2CO2H

B) HO2CCH2CH2CH2C02C2Hs
C) HO2CCH2CO2H

D) (HO2C)2CHCH2CO2H

198) Which structure of phenolphthalein makes it appear pink in alkaline medium?

T

o
A) §t5:

=, L=T0]

198) Pieiletrrelel T B Ul T I &g AT & Talel R@rdr 82

L
rff B

A)

B)
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199) The efficiency of a Carnot cycle was found to be 1/4. When the temperature of the source was
increased by 50 °C the efficiency changed to 1/2. What will be the source and sink temperature?

A) Source temperature = 200 K and sink temperature = 150 K
B) Source temperature = 400 K and sink temperature = 100 K
C) Source temperature = 250 K and sink temperature = 100 K
D) Source temperature = 300 K and sink temperature = 200 K

199) FTAf Tsh T S&TAT 1/4 TTs T3 | 9§ g HIAIHE 50°C ¥ ST 71T, ST 1/2 H 96d T | 9
3R e Ao frder gier?

A) g T = 200 K 3R s aroHE = 150 K
B) @rg AMIEM = 400 K 3R s dUHE = 100 K
C) g AMUHE = 250 K 3R &% agHE = 100 K
D) @ra AMIHM = 300 K 3R f&is dIHE = 200 K

200) How many optically active isomers are possible in case of the given compound? The
compound: HOOC(CHOH)sCOOH

A) 4
B) 2
C) 1
D) 3

200) faw U 3T & Ui 3 fohaer Tffeera &9 ¥ |@fshg GH9gd T4 &2 Fifae:
HOOC(CHOH);COOH

A) 4
B) 2
C) 1
D)3
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